(NL) TL2000 Motormontagestandaard 450kg

(GB) TL2000 Engine stand 450kg International
(D) TL2000 Motorbock 450kg
CFDTL2000 Support de montage moteurs 450kg

SAM GROUP

2016

x{_rﬁl
O,
:'_i:
D,
ir
'|,_l_|—.
'1__1]

Index|Parts No. Description Qty
01 |TL2000-01 Lock Pin 1
02 |TL2000-02 Head Assembly 1
03 |TL2000-03 Handle 1
04 |TL2000-04 Bolt M12x65 4
05 |TL2000-05 Mounting Arms 4
06 |TL2000-06 Washer 12 8
07 |TL2000-07 Spring Washer 12 9
08 |TL2000-08 Nut M12 8
09 [TL2000-09 Mast Assembly 1
10 |TL2000-10 Beam 1
11 |TL2000-17 Wheel 2
12 |TL2000-12 Washer 14 2
13 |TL2000-13 Pin 2x22 2
14 |TL2000-14 Bolt M12x80 1
15 |TL2000-15 Cross Member 1
16 |TL2000-16 Bolt M12x70 2
17 |TL2000-11 Front Leg 1
18 |TL2000-18 3"Caster 2




	Onderdeeltekening

